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1p 27 Geef van elke van de volgende beweringen aan of deze in 
overeenstemming is met alinea 4. 
Omcirkel ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Honden blaffen harder als ze samen zijn met een andere hond. 
2 Luie honden blaffen minder dan honden die fit en getraind zijn. 
 

1p 28 Kies bij    28    in alinea 5 het juiste antwoord uit de gegeven 
mogelijkheden. 
A ignore 
B observe 
C punish 
D stroke 
 

2p 29 De inhoud van deze tekst kan met behulp van de volgende drie kopjes, 
die al in de juiste volgorde staan, worden verdeeld: 
a Hoe mensen het beleven 
b Verklaringen voor het blaffen  
c Praktische tips en oplossingen 
 Geef in de uitwerkbijlage voor ieder kopje aan vanaf welke alinea het 

deel begint. 
 
 

Tekst 9 

 
1p 30 How is the subject of this text introduced in paragraph 1? 

A by describing an ideal 
B by giving a warning 
C by making a prediction 
D by presenting an example 
 

2p 31 In de tekst komen drie deskundigen aan het woord: 
1 Peter Donnelly (alinea 2) 
2 Zoubin Ghahramani (alinea 3) 
3 Paul Newman (alinea 4) 
Geef van elke persoon aan welke van de volgende beweringen aansluit bij 
wat hij zegt volgens de tekst. 
a Computers worden al gebruikt om menselijk gedrag te beïnvloeden.  
b Computers zullen voorlopig slechts bepaalde taken van mensen 

overnemen. 
c De bruikbaarheid van computers voor complexe taken wordt 

onderschat. 
d De ontwikkeling van kunstmatige intelligentie gaat snel vooruit. 
 Noteer de letter van de bewering achter de persoon in de 

uitwerkbijlage. 
Let op: er blijft één bewering over. 
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1p 32 Kies bij    32    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A controls for 
B doubts about 
C limits to 
D pressure on 
 

1p 33 “The idea of a humanoid robot is distorted by science fiction” 
(paragraph 4) 
What is this statement meant to make clear? 
A A truly all-round robot will not be developed any time soon. 
B Fiction has inspired researchers to start experimenting with robots. 
C Interfering with artificial intelligence is a rather risky activity. 
D People should realise that robots are already influencing our lives. 
 
 

Tekst 10 

 
1p 34 Why has a school in China come up with a ‘marks bank’ according to 

paragraph 1? 
A because bright pupils can now help out weaker ones 
B because poor students also deserve extra support 
C because students should take tests more seriously 
D because the present testing system is very demanding 
 

1p 35 What is the main goal of paragraph 2? 
A to describe how the ‘marks bank’ is set up 
B to point out the limitations of the ‘marks bank’ 
C to stress the need for the ‘marks bank’ 
D to sum up the advantages of the ‘marks bank’ 
 

1p 36 What is the point made by Huang Kan in paragraph 3? 
A Education should be more about stimulating students. 
B Education should focus on skills instead of knowledge. 
C The test results in China have been rather disappointing. 
D Written tests are an outdated method of assessment. 
 

1p 37 ‘double-edged sword’ (paragraph 4) 
Why is this expression used? 
A to deny that some students will abuse the ‘marks bank’ 
B to explain why cheating will increase because of the ‘marks bank’ 
C to introduce an extra argument that supports the ‘marks bank’ 
D to point out that there is a negative side to the ‘marks bank’ 
 


